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. Schaoal Chloroplast Plant cell organelle where photosynthesis happens.
Y8 Ecosystems: Photosynthesis P 9 P 4 PP
Chlorophyill. Green pigment that absorbs light for use in photosynthesis.
. Deficiency. A lack of minerals that causes poor growth.
Photosynthesis y poorg
Fertiliser. Chemical containing minerals that plants need to build new tissues.
Carbon . -
Dioxide + Water —» Glucose + Oxygen Photosynthesis. The process plants and algae use to make their own food. Carbon dioxide and
water react together to make glucose and oxygen.
6CO, + 6H,0 —» CgH,05 + 60, Producer. Organism that makes its own food using photosynthesis.
Starch Plants store soluble glucose as insoluble starch
Stomata (stoma) Pores (holes) found on the bottom of the leaf that allow gases to diffuse in and out
of the leaf.
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Most leaves have similar features: waxy layer chioroplast
* They are green — because of chlorophyll needed to capture energy from the Sun. S Jo——1] —=/
* They are thin — so that gases can diffuse in and out easily. g ) N3 IR 0%3‘ j%,g R
* They have a large surface area — to absorb as much light energy as possible. le’";ﬁg j A8/ 1. oo g \Iz o 1 é’l: \ofe/ |,
. .. ol |@ ofld o /o oll .| 9 o Di:  palisade layer
* They have veins — containing xylem tubes to transport water, and phloem tubes to g B 3l I8 W BYE %' o1 J-‘g 5 jf A\ :
transport glucose. K 80;’ A R ERT 1 P (O g“:
Leaves are divided into two main layers: NG ) - spongy layer
* The palisade layer (at the top of the leaf) contains many chloroplasts and is where Y IS S |
most photosynthesis takes place. A (o= —— | =9
* The spongy layer (the underside of the leaf) contains air spaces and the stomata which somb Sl Hirsece
allow carbon dioxide to enter and oxygen to leave the leaf.




